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Mz TS AP e g
Rl T SA 2435 (oA
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
FOX A 44,350,841 46,000,648 A 1,649,807
= 19,824,872
2 633,731
< 11,041,389
= 12,850,849
=2 A Er2 5} 221,445 170,601 50,844
= 21,460
== 8,038
= 191,947
T2 A 2435} 221,445 170,601 50,844
= 21,460
< 8,038
= 191,947
ANSAMAH BEE K& 8,907 8,045 862
= 4,454
< 1,336
= 3,117
307 GI2t0IH 8,907 8,045 862
= 4,454
< 1,336
= 3,117
06 282 8,907 8,045 862
OXLEAMNT 282 X 8,907,000 8,907
=2 4,454
== 1,336
= 3,117
=2 AF 2CIHI0IH X 34,011 30,472 3,539
= 17,006
== 5,102
= 11,903
101 Q12 H] 34,011 30,472 3,539
= 17,006
< 5,102
= 11,903
04 JIZHHIZ2HEE S 34,011 30,472 3,539
OXEA 2CHIOIH X 34,011,000 34,011
= 17,006
< 5,102
iy 11,903
ANSA EE2AAE 29 X3 16,000 16,000 0
== 1,600
= 14,400
101 Q12 H] 16,000 16,000 0
== 1,600
= 14,400
04 JIZLMIZ2XEE S 16,000 16,000 0
OXIAESAN H2AAE 29 XIE 16,000,000 16,000
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X XH .
S Tt

el

ZoIX B A
R = ARDI B2 3t
A=A 245

SA - HE . CR(B]H) - NBEAIY - HA2 AbOH dE e H D=2
- (S By RS TN 2SS =y 04| AFOH WSsa
202 044 3,840 3,456 384
01 2UWHYI 3,840 3,456 384
OXESAME 220
20,000 * 28 » 8 *12& 3,840
203 LR =& 1,000 900 100
03 A=A HS=AH| 1,000 900 100
OXNZESAt SRF& 1,000,000 1,000
301 et = 20,000 10,600 9,400
10 SAHAHIEA S 20,000 10,000 10,000
OXNESAIA =W &HHAE 10,000,000 10,000
OX2 S AL &I 24 5,000 = 1,000 5,000
OFAY &t Tt SAStL A 24
2,500,000 = 23l 5,000
307 2120l A 35,600 28,250 7,350
02 It aEx 35,600 28,250 7,350
OXNESA HEH=2S 10,600,000 10,600
OXZsSMEs =228 K& 25,000,000 25,000
=D ZMEEF 7,198,953 7,388,214 A 189,261
= 5,609,436
= 796,764
o 792,753
Jlzdg 2N 7,198,953 7,388,214 189,261
= 5,609,436
= 796,764
= 792,753
HHSN 4,500,000 4,817,526 A 317,526
= 3,600,000
= 450,000
= 450,000
307 lztold 4,500,000 4,817,526 A317,526
= 3,600,000
= 450,000
o 450,000
01 A2 =H 4,500,000 4,817,526 A317,526
OdHSN 4,500,000,000 4,500,000
= 3,600,000
= 450,000
= 450,000
F=HaN 1,375,000 1,255,942 119,058
= 1,100,000
= 137,500
= 137,500
307 12t0ld 1,285,000 1,255,942 29,058
= 1,028,000
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,285,000 1,255,942 29,058

,285,000
,028,000
128,500
128,500

OFHSH 1,285,000,000
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W

402 QI2HRHE01M 90,000 0 90,000
72,000
9,000
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MW

22X 90,000 0 90,000
o(se) 90,000,000 90,000
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9,000
9,000
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119,440 194,224 AT4,784
95,552
11,944
11,944
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307 2120l

o

119,440 194,204 AT4,784
95,552
11,944
11,944
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95,552
11,944
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53,170 62,476 9,306
40,424
3,032
9,714
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307 GI12t0ld 53,170 62,476 9,306




SA FRREA
Hu: D) EMERE
Col JIEME 2R (etol & e
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ofl At ot HusZ
= 40,424
= 3,032
T 9.714
01 SlEYLREH| 53,170 62,476 9,306
OX&9IHE YRSoIN 50,530,000 50,530
= 40,424
= 3,082
z 7,074
OXt&9IHS 2= ebibl(Zb]) 2,640,000 2,640
X2 Z A (2H]) 495,900 618,000 A 122,100
= 396,720
= 49,590
= 49,590
401 AI&HIL S| 495,900 618,000 A 122,100
= 396,720
= 49,590
T 49,590
01 Al£H| 495,900 618,000 £ 122,100
OREZZ A (2H) 495,900,000 495,900
= 396,720
3 49,590
= 49,590
ReASTH 33,972 34,560 1588
= 27,178
3 3,397
T 3,397
307 BI2t0IA 33,972 34,560 1588
= 27,178
= 3,397
T 3,397
01 SlEYREH| 33,972 34,560 1588
OREALSZH 33,972,000 33,972
= 27,178
= 3,397
= 3,397
syIssSHNE 26,849 27,919 A1,070
= 21,479
= 2,685
= 2,685
307 QI2+0IA 26,849 27,919 A 1,070
= 21,479
3 2,685
z 2,685
01 A=Y RZH| 26,849 27,919 A 1,070
O3YISSEX & 26,849,000 26,849
= 21,479
3 2,685
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==X 150,233 117,110 33,123
120,186

9,014
21,033

H

307 2120l & 150,233 117,110 33,123
120,186

9,014
21,033

M

] 150,233 117,110 33,123
A& 150,233,000 150,233

120,186
9,014
21,033

W

MY RetEsSAME 194,146 143,709 50,437
116,488
77,658

Ml

307 2120l & 194,146 143,709 50,437

116,488
77,658

U

01 A2 F =4 194,146 143,709 50,437
ORAJIIE Ret=sSAY 194,146,000 194,146

116,488
77,658

UL

M BN ESEMHIANZRAX 71,592 69,900 1,692
35,796

10,739
25,057

W

101 el 24l 71,592 69,900 1,692

35,796
10,739
25,057

MW

04 JIZAHZZ2NHESE= 71,592 69,900 1,692
OMISXNSEMEIAEERENA 71,592,000 71,592

35,796
10,739
25,057
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153,101 0 153,101
153,101

Il

H

307 2120l & 153,101 0 153,101
153,101

H

=4 153,101 0 153,101

153,101,000 153,101
153,101
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A FOXA
MR 2| ZNMEDH
SRl JIZME 2R (&te &=
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
201 LEI2HH| 1,800 0 1,800
02 2Z294| 1,800 0 1,800
QM2 T2 RAES
450,000 * 43 1,800
AHISXNSE Y BEBS 8,702,782 9,655,389 952,607
= 3,426,035
=2 30,084
[~ 3,596,828
= 1,649,835
DO QUAAM X(Z=U) 3,748,515 3,706,838 41,677
= 514,596
< 2,658,306
= 575,613
THOHQI MEHAI L D ZMEZH(ZSU) 643,246 672,697 A29,451
= 514,596
[= 64,325
= 64,325
307 QIZto|A 643,246 672,697 A29,451
= 514,596
[= 64,325
= 64,325
10 MEIEXEX 643,246 0 643,246
OJZMESH(ZSY ZHOHAAA)
643,246,000 643,246
= 514,596
[= 64,325
= 64,325
ZIOHQIMEAH 2F(ZsUl) 2,374,858 2,417,655 N42,797
[= 2,374,858
307 QIzto|A 2,374,858 2,417,655 N42,797
< 2,374,858
10 MBIEXIEX 2,374,858 0 2,374,858
OXOHQIMEANL2A(RBSYI) 2,374,858,000 2,374,858
[= 2,374,858
ZOHQIEXIAIA AIHAAT XKAE)(ZSU) 174,051 164,200 9,851
[= 52,215
= 121,836
307 QIZto|A 174,051 164,200 9,851
[= 52,215
= 121,836
10 MHBIEXEX 174,051 0 174,051
OFMOIEXALEUATIXS(4E)(2SUI)
174,051,000 174,051
[~ 52,215
= 121,836
ZOHQIEXAIE 29 (78 )(Z=U) 556,360 452,286 104,074




A FeRAA
A ZojOI=NEH
Chel: R OJOIR Al S EE)
SA Sl (3H) - L Aol e =2
& 166,908
i 389,452
307 212t01& 556,360 452,286 104,074
& 166,908
= 389,452
10 AlRISXE 556,360 0 556,360
OZ Ol Al ES | 556,360,000 556,360
& 166,908
= 389,452
e Resy g 492,546 1,703,299 A 1,210,753
= 135,658
= 30,084
& 84,043
i 242,761
Z ORI F=CIX+XI 66,691 24,795 41,896
= 33,345
& 16,673
= 16,673
101 elH| 66,691 24,795 41,896
= 33,345
o= 16,673
= 16,673
04 JI2ZtMZ22XSE+ 66,691 24,795 41,896
OFOoHe!
66,691,000 66,691
= 33,345
& 16,673
= 16,673
ZOHQISRIL Ktel X & 26,796 6,056 20,740
= 13,398
& 6,699
= 6,699
101 elH| 26,796 6,056 20,740
= 13,398
L= 6,699
= 6,699
04 JI2ZtMZ22XSE+ 26,796 6,056 20,740
(OFSJ1 kel 26,796,000 26,796
= 13,398
= 6,699
= 6,699
SSEMEsEXX 78,028 47,674 30,354
= 54,620
& 11,704
= 11,704
307 212t01& 78,028 47,674 30,354
= 54,620




SN EOIXAA

HE: ZWASNSA L YRS
el FOjO KBS S (B9 &)
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
< 11,704
2 11,704
NEENEES 78,008 0 78,028
OZZHY HESSEXAAL 78,028,000 78,008
= 54,620
= 11,704
2 11,704
LN EEE S ERinE 3,088 2,868 190
= 2,446
= 612
301 YBrBAZ 3,058 2,868 190
= 2,446
2 612
01 ABIBEE 263 3,058 2,868 190
OBAMELSEI T D=2 3,058,000 3,088
= 2,446
2 612
SSZHoE 2, 4SSN 2Y 120,000 130,000 £10,000
307 2I2+0IH 120,000 130,000 £10,000
NEETEES 120,000 0 120,000
OBOHATH 2, ARENY 2| X
30,000,000 * 4CH 120,000
HASHH SRS 23 15,408 14,211 1,197
= 4,622
2 10,786
307 212+0IH 15,408 14,211 1,197
= 4,622
2 10,786
10 AEIZREE 15,408 0 15,408
OOl =XME B2 15,408,000 15,408
= 4,622
2 10,786
WOl SATONUSTI AL 22| X2 21,600 21,600 0
= 6,480
2 15,120
307 212+0IH 21,600 21,600 0
= 6,480
2 15,120
10 AEIZREE 21,600 0 21,600
OMeleg ROjQIMEAIL TR 21,600,000 21,600
= 6,480
2 15, 120
DO ARSHE 2| 89,920 89,920 0
= 30,084
= 26,976




SN EOIXAA

M HI=2XESE L PHULES
el ZOHQ KiEs shal (chte: &
- _ _ ME
2N -3 - c2(3H) - NEME - HES Off Ak oH oﬁwa Hon=s2t
2 32,860
307 2I2t0| A 89,920 89,920 0
=2 30,084
[ 26,976
= 32,860
10 AlBIE2XEX 89,920 0 89,920
O AMREHE 2H(AZ2FOL)
89,920,000 89,920
2 30,084
[ 26,976
2 32,860
ROHQIKB AR 29 U AL &= 12,000 12,000 0
307 2I2t0| A 12,000 12,000 0
10 ALBIZ2XEX 12,000 0 12,000
OZOHOIRBRIEAR 2 12,000,000 12,000
ZOHQI XIHALBITHEAIE SALL 225 (Z0[elA 3,600 6,600 A3,000
SEMH)
< 1,080
=2 2,520
307 2I2t0| A 3,600 6,600 23,000
[= 1,080
= 2,520
10 AlBIE2XIEX 3,600 0 3,600
OZOHQ KIHAIZITHEAIE ESAX 224
3,600,000 3,600
< 1,080
=2 2,520
ZOHOIE MEXE HIRSH™ALY 40,699 72,481 N31,782
= 28,489
< 6,105
=2 6,105
307 2I2t0| A 40,699 72,481 A31,782
=2 28,489
[~ 6,105
= 6,105
10 AlBIE2XIEX 40,699 0 40,699
OZOHOIS THEXI2 HIRA 40,699,000 40,699
=2 28,489
< 6,105
2 6,105
AL HR2HAY 4,800 1,680 3,120
2 3,360
= 720
2 720
307 SI2t0| A 4,800 1,680 3,120
=2 3,360




S F
X XH .
S Tt

oLk

_ - MEo
= 720
z 720
NES 4,800 0 4,800
NS 4,800,000 4,800
=2 3,360
= 720
= 720
Hol=XAe HeEZ2ly 2 9,946 0 9,946
3 2,984
= 6,962
HOI & 9.946 0 9,946
=3 2,984
= 6,962
ENES 9,946 0 9,946
UEXAE WEZZIY 29
9,946,000 9,946
3 2,984
= 6,962
=INE] 2,671,792 2,580,462 91,330
= 1,646,755
= 429,227
= 505,810
gs X 33,120 33,520 2400
2| 6.320 6,320 0
2/t 2,840 2,840 0
+2H| 2,000
HOHOIRFS X E X SEAEIH M=
1,000 * 2,00004 2,000
Oosg+y 840
—Fe=Exes BLry
000 * 124 * 13] 840
ZZea| 3,480 3,480 0
OAEFHI KX 3,480
~THHUHER ARSI RS+
165,000 * 122 1,980
— AT HAZESAI| 2L WA
1,400,000 » 13| 1,400
R MERATSAI| HIIZA 42
100,000 100
A2 ETH| 1,000 900 100
AlBER 2 =T 1,000 900 100
O=XALz YREX 1,000,000 1,000
RI2+0I & 25,800 26,300 A500
=HEES 16,800 17,300 A500
II=FOI=XIE IS 2,000
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S EOIRAA
Ha: BOHQI=SNEE L RYARS
ol ROHQl MEOIN X (B9 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
—HIE BEREA &} 2,000,000 2,000
OS2I 3 IHBZX 3 3,000
—ROHQ HYUAM L KA 2,000,000 2,000
—HIIE BOHQ HOIEE 48] EH
1,000,000 1,000
OBI2AIZL RN 83 B2 XIS 7,800
~HX DA 2 2,000,000 2,000
PN S 2,000,000 2,000
2B L3 08 29 3,200,000 3,200
—AEZDA 2Y(22) 600,000 600
OS2 NERHASE IHBZX 3 4,000
—DEAD BX AE FAIS 1,500,000 1,500
X ST SHopED)| 1,000,000 1,000
~DEAD B =5 Aol 1,000,000 1,000
—FOHol g IR 500,000 500
10 ABI=X2E 9,000 0 9,000
OFOHoIe] & A XIR 9,000,000 9,000
B 0H 42 (2H]) 438,502 1,046,666 608, 164
= 306,952
= 65,775
2 65,775
307 212H0I 438,502 1,046,666 608, 164
=2 306,952
= 65,775
= 65,775
01 A2LR2H| 438,502 1,046,666 608, 164
OF < (=2bl) 438,502,000 438,502
=2 306,952
= 65,775
i 65,775
BOH &2 (SHI) 162,200 182,400 20,200
= 48,660
2 113,540
307 212H0I 162,200 182,400 20,200
= 48,660
2 113,540
01 ABYPRH 162,200 182,400 20,200
OF M4 (S HI) 162,200,000 162,200
= 48,660
2 113,540
D02 1,826,732 1,135,361 691,371
=2 1,278,712
= 274,010
2 274,010
307 212+0| 1,826,732 1,135,361 691,371
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oLk
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R
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MW

1,278,712
274,010
274,010

01 A2+ =H
=)

1,826,732,000

M

1,826,732
1,826,732

1,278,712
274,010
274,010

1,135,361

691,371

H

2,320
1,160
580
580

560

1,760

307 2120l &

MW

2,320
1,160
580
580

560

1,760

01 =2+ =Hl
ol

2,320,000

W

2,320
2,320

1,160
580
580

560

1,760

ZOHQ! oj=Hl XI&

M

73,884

59,107
14,777

37,995

35,889

307 2120l &

M

73,884

59,107
14,777

37,995

35,889

01 I2€+=2H
O

=20
Ol 2

SHl X&

73,884,000

M

73,884

73,884

59,107
14,777

37,995

35,889

t

pa
b
Jn
o
2
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|0

|=8 XI&

Mk

22,890

6,867
16,023

22,890

307 2120l &

Ml

22,890

6,867
16,023

22,890

22,890,000

U

22,890

22,890

6,867
16,023

22,890

Mk

55,000

16,500
38,500

55,000

Ml

55,000

16,500
38,500

55,000
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S F
X XH .
S Tt

oLk

_ _ SIEN
SA-BH.C(BH) - HRAY - B Ao 0l ot o 2
01 AtEI B X453 55,000 55,000 0
ONASHOHOIIIT BSHH XY
55,000,000 55,000
= 16,500
2 38,500
e RIPEREE] 1,030 950 80
= 824
2 206
301 YLrBAZ 1,030 950 80
= 824
2 206
01 At BZ X453 1,030 950 80
O 04 Xt D Z b 1,030,000 1,030
= 824
2 206
ZOjl BOAE JETAME 2 56, 114 0 56, 114
= 6,835
= 39,279
307 212+0IH 56, 114 0 56, 114
= 6,835
= 39,279
10 AEIZREE 56, 114 0 56, 114
O0HQl BN JI&XAHE 29
56, 114,000 56, 114
= 6,835
2 39,279
S2AoAE KB (REY) 1,789,929 1,664,790 125,139
= 1,129,026
= 425,252
2 235,651
SN SOHI(RSU) 549,600 551,480 ~1,880
= 439,680
= 54,960
2 54,960
307 2120/ H 549,600 551,480 ~1,880
=2 439,680
= 54,960
2 54,960
10 AEIZREE 549,600 0 549,600
ORoANE S0HI(BSUI) 549,600,000 549,600
=2 439,680
= 54,960
2 54,960
SANE 2YH(BSU) 958,959 868,090 90,869
= 671,271
= 287,688

N
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SN

ZOIXI
Hu: FOQU=SNEE L 2l
el BaINE X (BSY) (B9 &2
5 o SIEN
SN YO (BH) - MBAY - BYS Aol il i~ o HRs2
307 212H0I 958,959 868,090 90,869
=2 671,271
= 287,668
NIEESEES 958,959 0 958,959
ORoIAL 2HHI(BSY 958,959,000 958,959
= 671,271
= 287,688
SYOAL N (BEY) 245,220 245,220 0
= 73,566
2 171,654
307 212H0I 245,220 245,220 0
= 73,566
2 171,654
NIEESEES 245,220 0 245,220
OSoIAL X 245,220,000 245,220
= 73,566
2 171,654
SUOIAL JISEL (O Al) 36, 150 0 36, 150
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307 g12told 29,421 0 29,421
= 20,595

_30_




SN

ZFoIX @A

F: A0 ENNE € Hd=NsH
&2l OEshtE 83 =4 (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
. o= T ° . [= B il = =5 0:”/‘l|_% Lsa
& 4,413
i 4,413
05 QIZtRIEF 29,421 0 29,421
OL2&ItE Xd g Y XIF 29,421,000 29,421
= 20,595
& 4,413
= 4,413
Hesg g 77,593 93,238 A 15,645
= 12,950
& 7,636
= 57,007
A XA 28,240 34,536 A6,296
201 23| 10,840 1,680 9,160
01 AbR22lH| 840 1,680 A B840
ozd=¢ 840
—08LNARJG FoEN G
70,000 » 129 * 13| 840
03 A2 ZH| 10,000 0 10,000
OOW4& Oor3tdl ol JH=l 10,000,000 10,000
301 LEtE A= 5,400 5,400 0
10 SALAHIEA = 4,000 4,000 0
OGA=TIRE DS L BAEA
2 = 2,000
O&HMsld w=s ¢ MOILE & 2 af
509 1,000
O XNEXUHE HAX &
100,000 * 104 1,000
12 JIEtE 43 1,400 1,400 0
O dated & MZ 200,000 = 798 * 13 1,400
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